	User requirement  #
	Estimation Effort
	Estimated No of Developers
	Total Effort

	UR Number 1
	1 pw 
	3
	3 pw

	UR Number 2
	0.5 pw
	2
	1 pw

	UR Number 3
	0.5 pw
	2
	1 pw

	UR Number 4
	0.5 pw
	3
	1.5 pw

	UR Number 5
	1 pw
	2
	2 pw

	UR Number 6
	1 pw
	1
	1 pw

	Total Effort
	4.5 pw
	Need approximately   2 developers on average
	9.5 pw

	Schedule time 30% 
	4.5*1.3 = 6 W
(Min Time )
	-
	9.5*1.3 = 12 W
(Max Time)

	Cost
	
	Avg Salary = 100$
	1200$

	
Profit margin 
(min=10%; max=30%)
	-
	                   Min Cost ==>  


                   Max Cost ==>  
	1200*1.1 = 1350$


1200*1.3 = 1550$
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